

**

*

:

1

The Relationship between Analysis of Variance and the Regression Analysis of Dummy Variables

ABSTRACT

Regression analysis of dummy variables with effect code showed the same results of the analysis of variance table when they were applied on three fixed model designs. The designs were: completely randomized, randomized complete blocks and Latin square. This procedure gave an advantage upon the classic one, it yield additional information about the relation between the response and predictors as the regression analysis does, such as: coefficient of determination, identification of the outliers, also tackled the missing observations without estimating them.

2008/3/ 5:

2007/10/ 9 :

...

quantitative

qualitative variables

variables

indicated or dummy

.(2006) variable

effect code

(2006)

k-1

k

.(full rank)

($X'X$)

(2003)

Vuchkov and Boyadjieva (2001)

:

:

X_{ij}

Y_i

fixed model

General linear model :

Agresti and Franklin (2007)

$$(B_0 + B_1 X_{i1} + B_2 X_{i2} + \dots + B_m X_{im}) :$$

$$\cdot \varepsilon_i$$

$$y_i = B_0 + \sum_{j=1}^m B_j X_{ij} + \varepsilon_i \quad ; \quad i = 1, 2, \dots, n \quad ; \quad j = 1, 2, \dots, m \quad \dots \quad (1)$$

$$i \quad : y_i$$

$$: \beta_0, \dots, \beta_m$$

$$n \quad m \quad : X_{i1}, \dots, X_{im}$$

$$. i \quad : \varepsilon_i$$

(2006)

$$(\varepsilon' \varepsilon)$$

$$\hat{\beta} = (X'X)^{-1} X'y \quad \dots \quad (2)$$

$$\text{SStotal (SST)} = \text{SS}(\text{R}(X_1, \dots, X_{t-1})) + \text{SSe} \quad \dots \quad (3)$$

$$\text{SS(due to regression)} = \text{SS}(\text{R}(X_1, \dots, X_m))$$

$$\text{SS(error)} = \text{SSe}$$

(1)

$$H_0 : B_1 = B_2 = \dots = B_m = 0$$

:(H₁)

$$H_1 : B_1 \neq B_2 \neq \dots \neq B_m \neq 0, \text{ (at least one of } \beta_{j_s} \neq 0)$$

$$n-m-1 \quad m \quad F$$

$$F = \frac{MS(\text{R}(X_1 \dots X_m))}{MSe(X_1 \dots X_m)} = \frac{(\beta' X' y - n\bar{y}^2) / m}{(y' y - \beta' X' y) / (n - m - 1)} \quad \dots \quad (4)$$

$$(X_{k+1} \dots X_m) \quad m - k$$

$$k$$

(Berenson et al., 2006) :

$$H_0 : B_{k+1} = B_{k+2} = \dots = B_m \mid \beta_1 \dots \beta_k = 0$$

$$H_1 : B_{k+1} \neq B_{k+2} \neq \dots \neq B_m \mid \beta_1 \dots \beta_k \neq 0, \text{ (at least one of } \beta_{k+1}, \dots, \beta_m \neq 0)$$

$$F = \frac{MS(R(X_{k+1} X_{k+2} \dots X_m | X_1 \dots X_k))}{MSe(X_1 X_2 \dots X_m)} \dots \quad (5)$$

$$H_0 : B_j | B_1 B_2 \dots B_{j-1} B_{j+1} \dots B_m = 0$$

$$H_A : B_j | B_1 B_2 \dots B_{j-1} B_{j+1} \dots B_m \neq 0$$

$$F = \frac{MS(R(X_j | X_1 X_2 \dots X_{j-1} X_{j+1} \dots X_m))}{MSe(X_1 X_2 \dots X_m)} \dots \quad (6)$$

Completely randomized design

$$X_{ij} = \begin{pmatrix} 1 & \dots & i & \dots & y_{ij} \\ -1 & \dots & (i-1) & \dots & y_{ij} \\ 0 & \dots & \dots & \dots & y_{ij} \end{pmatrix}$$

$y_{n \times 1}$ $X_{n \times ((t-1)+1)}$

$$y_{n \times 1} \begin{bmatrix} y_{11} \\ y_{12} \\ \vdots \\ y_{ij} \end{bmatrix} ; X_{n \times t} = \begin{bmatrix} 1 & 1 & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots \\ 1 & 1 & \dots & 0 \\ 1 & 0 & \dots & 1 \\ \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots \\ 1 & 0 & \dots & 1 \\ 1 & -1 & \dots & -1 \\ \vdots & \vdots & \vdots & \vdots \\ 1 & -1 & \dots & -1 \end{bmatrix}$$

$$y_{ij} = \mu + \tau_j + \varepsilon_{ij} \quad \dots \quad (7)$$

μ
 τ_j
 ε_{ij}

$$y_i = \beta_0 + \underbrace{B_1 X_1 + B_2 X_2 + \dots + B_{t-1} X_{t-1}} + \varepsilon_i \quad \dots \quad (8)$$

(7)

$$H_0 : \tau_1 = \tau_2 = \dots = \tau_t = 0 \quad \dots \quad (9)$$

$$H_1 : \tau_1 \neq \tau_2 \neq \dots \neq \tau_t \neq 0, \text{ (at least two of } \tau_{i's} \text{ are not equal)}$$

(8)

$$H_0 : B_1 = B_2 = \dots = B_{t-1} = 0 \quad \dots \quad (10)$$

$$H_1 : B_1 \neq B_2 \neq \dots \neq B_{t-1} \neq 0, \text{ (at least one of } \beta_{j's} \neq 0)$$

$$\begin{matrix} (10) & (9) & & (8) & (7) \\ & (10) & & & (9) \\ \cdot & (10) & (9) & (1) & \end{matrix}$$

:1

S.O.V.	D.F.	S.S.	F
$R(X_1, \dots, X_{t-1})$	$t-1$	$SS(R(X_1, \dots, X_{t-1})) = SS(R_t)$	$\frac{MS(R_t)}{MSe}$
$error(X_1, \dots, X_{t-1})$	$n-t$	SSe	
<i>total</i>	$n-1$	SST	

Randomized complete blocks design

.r t :

t

tr

r- t-1 t+r-2

: .i = 1, \dots, t; j = 1, \dots, r :

$$X_{1, \dots, t-1} = \begin{cases} 1 & t & Y_{ij} \\ -1 & & Y_{ij} \\ 0 & & \end{cases}$$

$$X_{t, \dots, t+r-2} = \begin{cases} 1 & r & Y_{ij} \\ -1 & & Y_{ij} \\ 0 & & \end{cases}$$

...

$$y_{n \times 1} \quad X_{n \times (t+r-2)}$$

:

$$y_{n \times 1} = \begin{bmatrix} y_{11} \\ y_{12} \\ \cdot \\ \cdot \\ \cdot \\ y_{ij} \end{bmatrix} ; \quad X_{n \times (t+r-2)} = \begin{bmatrix} 1 & 1 & \cdot & \cdot & 1 & 0 \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ 1 & 1 & \cdot & \cdot & -1 & -1 \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ 1 & 0 & \cdot & \cdot & 0 & 1 \\ 1 & -1 & \cdot & \cdot & -1 & -1 \end{bmatrix}$$

:

:

-

:

$$y_{ij} = \mu + \rho_i + \tau_j + \varepsilon_{ij} \quad \dots \quad (12)$$

:

:

$$\hat{\mu} = \bar{y}_{..}$$

$$\tau_i = \hat{\mu}_i - \hat{\mu} = \bar{y}_{i.} - \bar{y}_{..} \quad : i$$

$$\hat{\rho}_j = \hat{\mu}_j - \hat{\mu} = y_{.j} - \bar{y}_{..} \quad : j$$

$$\hat{\varepsilon}_{ij} = y_{ij} - y_{i.} - y_{.j} + \bar{y}_{..} \quad :$$

(1)

:

$$y_i = B_0 + \underline{B_1 X_1 + \dots + B_{t-1} X_{t-1}} + \underline{B_t X_t + \dots + B_{t+r-2} X_{t+r-2}} + \varepsilon_i \quad \dots \quad (13)$$

$$H_o : \tau_1 = \dots = \tau_t \quad \dots \quad (14)$$

$$H_1 : \tau_1 \neq \dots \neq \tau_t, \text{ (at least two of them are not equal)}$$

$$H_o : \rho_1 = \rho_2 = \dots = \rho_r \quad \dots \quad (15)$$

$$H_1 : \rho_1 \neq \rho_2 \neq \dots \neq \rho_r, \text{ (at least two of them are not equal)}$$

$$H_o : \beta_1 = \dots = \beta_{t-1} = \beta_t = \dots = \beta_{r+t-2} = 0 \quad \dots \quad (16)$$

$$H_1 : \beta_1 \neq \dots \neq \beta_{t-1} = \beta_t = \dots = \beta_{r+t-2} \neq 0, \text{ (at least one of } \beta_{j_s} \neq 0)$$

$$H_o : \tau_1 = \tau_2 = \dots = \tau_t = \rho_1 = \dots = \rho_r \quad \dots \quad (17)$$

$$H_1 : \tau_1 \neq \tau_2 \neq \dots \neq \tau_t \neq \rho_1 = \dots \neq \rho_r, \text{ (at least two of them are not equal)}$$

$$(15) \quad (14) \quad (17) \quad (16)$$

$$(15) \quad (14) \quad (16)$$

$$H_o : \beta_1 = \dots = \beta_{t-1} | \beta_t \dots \beta_{r+t-2} = 0 \quad \dots \quad (18)$$

$$H_1 : \beta_1 \neq \dots \neq \beta_{t-1} | \beta_t \dots \beta_{r+t-2} \neq 0, \text{ (at least one of } \beta_{j_s} \neq 0)$$

$$H_o : \beta_t = \dots = \beta_{r+t-2} | \beta_1 \dots \beta_{t-1} = 0 \quad \dots \quad (19)$$

$$H_1 : \beta_t \neq \dots \neq \beta_{r+t-2} | \beta_1 \dots \beta_{t-1} \neq 0, \text{ (at least one of } \beta_{j_s} \neq 0)$$

...

$$: -$$

$$(13)$$

$$SS(R(X_1, \dots, X_{r+t-2})) = SS(R_t) + SS(R_r) \quad \dots \quad (20)$$

$$SS(R_t) = SS(R(X_1, \dots, X_{t-1})) \quad \dots \quad (21)$$

$$SS(R_r) = SS(R(X_t, \dots, X_{r+t-2})) \quad \dots \quad (22)$$

$$(15) \quad (14)$$

$$(19) \quad (18)$$

$$.(2)$$

:2

S.O.V.	D.F.	S.S.	F
$R(X_1, \dots, X_{r+t-2})$	$r + t - 2$	$SS(R(X_1, \dots, X_{r+t-2}))$	
$R(X_1, \dots, X_{t-1} \mid X_t, \dots, X_{r+t-2})$	$t - 1$	$SS(R_t)$	$\frac{MS(R_t)}{MSe}$
$R(X_t, \dots, X_{r+t-2} \mid X_1, \dots, X_{t-1})$	$r - 1$	$SS(R_b)$	$\frac{MS(R_b)}{MSe}$
$error(X_1, X_2, \dots, X_{r+t-2})$	$n - r - t + 1$	SSe	
<i>total</i>	$n - 1$	SST	

Latin Square Design

rows (r_j)

(t_i)

columns (c_k)

rc

.r = c = t : $j=1,2,\dots,r$; $k=1,2,\dots,c$; $i=1,2,\dots,t$:

$$y_{jk(i)} = \mu + \rho_j + \gamma_k + \tau_{(i)} + \varepsilon_{jk(i)} \quad \dots \quad (23)$$

$$: \hat{\mu} = \bar{y}_{..}$$

$$\hat{\tau}_{(i)} = \hat{\mu}_i - \hat{\mu} = \bar{y}_{.(i)} - \bar{y}_{..} \quad :i$$

$$\hat{\rho}_j = \hat{\mu}_j - \hat{\mu} = y_{.j} - \bar{y}_{..} \quad :j$$

$$\hat{\gamma}_k = \hat{\mu}_k - \hat{\mu} = y_{.k} - \bar{y}_{..} \quad :k$$

$$\hat{\varepsilon}_i = y_{jk(i)} - y_{.j} - y_{.k} - y_{.(i)} + 2\bar{y}_{..} \quad :$$

$$y_i = \underline{B_0 + B_1 x_1 + \dots + B_{r-1} x_{r-1} + B_r x_r + \dots + B_{2r-2} x_{2r-2} +$$

$$\underline{B_{2r-1} x_{2r-1} + \dots + B_{3r-3} x_{3r-3} + \varepsilon_i}$$

$$= B_0 + \sum_{j=1}^{r-1} B_j X_j + \sum_{j=r}^{2r-2} B_j X_j + \sum_{j=2r-1}^{3r-3} B_j X_j + \varepsilon_i \quad \dots \quad (24)$$

$$H_o : \tau_1 = \dots = \tau_t \quad \dots \quad (25)$$

$$H_1 : \tau_1 \neq \dots \neq \tau_t, \text{ (at least two of them are not equal)}$$

$$H_o : \rho_1 = \rho_2 = \dots = \rho_r \quad \dots \quad (26)$$

$$H_1 : \rho_1 \neq \rho_2 \neq \dots \neq \rho_r, \text{ (at least two of them are not equal)}$$

$$H_o : \gamma_1 = \gamma_2 = \dots = \gamma_c \quad \dots \quad (27)$$

$$H_1 : \gamma_1 \neq \gamma_2 \neq \dots \neq \gamma_c, \text{ (at least two of them are not equal)}$$

(due to regression)

$$H_o : \beta_1 = \beta_2 = \dots = \beta_{r-1} = \beta_r = \dots = \beta_{2r-2} = \beta_{2r-1} = \dots = \beta_{3r-3} = 0 \quad \dots \quad (28)$$

$$H_1 : \beta_1 \neq \beta_2 \neq \dots \neq \beta_{r-1} \neq \beta_r \neq \dots \neq \beta_{2r-2} \neq \beta_{2r-1} \neq \dots \neq \beta_{3r-3} \neq 0 \text{ (at least one of them } \neq 0)$$

$$\vdots \quad (28)$$

$$H_o : \tau_1 = \tau_2 = \dots = \tau_t = \rho_1 = \dots = \rho_r = \gamma_1 = \dots = \gamma_c \quad \dots \quad (29)$$

$$H_1 : \tau_1 \neq \tau_2 \neq \dots \neq \tau_t \neq \rho_1 = \dots \neq \rho_r \neq \gamma_1 \neq \dots \neq \gamma_c \text{ (at least two of them are not equal)}$$

$$(26) \quad (25) \quad (29) \quad (28)$$

$$(28) \quad (27)$$

$$H_o : \beta_1 = \dots = \beta_{r-1} | \beta_r \dots \beta_{2r-2} \beta_{2r-1} \dots \beta_{3r-3} = 0 \quad \dots \quad (30)$$

$$H_1 : \beta_1 \neq \dots \neq \beta_{r-1} | \beta_r \dots \beta_{2r-2} \beta_{2r-1} \dots \beta_{3r-3} \neq 0 \text{ (at least one of them } \neq 0)$$

$$H_o : \beta_r = \dots = \beta_{2r-2} | \beta_1 \dots \beta_{r-1} \beta_{2r-1} \dots \beta_{3r-3} = 0 \quad \dots \quad (31)$$

$$H_1 : \beta_r = \dots \neq \beta_{2r-2} | \beta_1 \dots \beta_{r-1} \beta_{2r-1} \dots \beta_{3r-3} \neq 0 \text{ (at least one of them } \neq 0)$$

$$H_o : \beta_{2r-1} = \dots = \beta_{3r-3} | \beta_1 \dots \beta_{r-1} \beta_r \dots \beta_{2r-2} = 0 \quad \dots \quad (32)$$

$$H_1 : \beta_{2r-1} \neq \dots \neq \beta_{3r-3} | \beta_1 \dots \beta_{r-1} \beta_r \dots \beta_{2r-2} \neq 0 \text{ (at least one of them } \neq 0)$$

$$(3)$$

$$SS(R(X_1, \dots, X_{3r-3})) = SS(R_t) + SS(R_r) + SS(R_c) \quad \dots \quad (33)$$

$$SS(R_t) = SS(R(X_1, \dots, X_{t-1})) = SS(R(X_1, \dots, X_{r-1})) \quad \dots \quad (34)$$

$$SS(R_r) = SS(R(X_t, \dots, X_{r-1})) = SS(R(X_r, \dots, X_{2r-2})) \quad \dots \quad (35)$$

$$SS(R_c) = SS(R(X_r, \dots, X_{c-1})) = SS(R(X_{2r-1}, \dots, X_{3r-3})) \quad \dots \quad (36)$$

(27) (26) (25)
 (32) (31) (30)
 .(3)

:3

S.O.V.	D.F.	S.S.	F
$R(X_1, \dots, X_{3r-3}) = \text{due to regression}$	$3r - 3$	$SS(\text{due to reg.})$	
$R_t(X_1, \dots, X_{r-1} \mid X_r, \dots, X_{3r-3})$	$t - 1$	$SS(R_t)$	$\frac{MS(R_t)}{MSe}$
$R_r(X_r, \dots, X_{2r-2} \mid X_1 \dots X_{r-1}, X_{2r-1} \dots X_{3r-3})$	$r - 1$	$SS(R_r)$	$\frac{MS(R_r)}{MSe}$
$R_c(X_{2r-3}, \dots, X_{3r-3} \mid X_1, \dots, X_{2r-2})$	$c - 1$	$SS(R_c)$	$\frac{MS(R_c)}{MSe}$
$\text{error}(X_1, X_2, \dots, X_{3r-3})$	$n - 3r + 2$	SSe	
<i>total</i>	$n - 1$	SST	

:

.(2005)

-

:
 (2) (1k347) (503)
 .(5409) (1)

(2005)

: (2005)

(4)

.(8)

(6)

(Cody and Smith, 2006)

.SAS

:

/

:4

→ ↓	1	2	3	4	5	Y _i .
503	4.97	5.03	4.89	4.85	4.84	24.58
1k347	4.58	4.49	4.49	4.35	4.33	22.24
2	3.75	4.02	3.81	3.77	3.5	18.85
	5.42	6.19	5.87	5.16	5.15	27.8
5409	6.48	6.35	5.29	5.00	4.91	28.03

: : (4)

treatments

:

experimental error

.(5)

.(1)

:5

S.O.V.	D.F.	S.S.	M.S.	F
treatments = <i>due to regression</i> = $R(X_1, \dots, X_{t-1})$	4	12.04	3.01	17.71
error = $error(X_1, \dots, X_{t-1})$	20	3.32	0.17	
total	24	15.35		

:

/

:6

→	1	2	3	4	5	$Y_{i.}$
503	4.97	5.03	4.89	4.85	4.84	24.58
1k347	4.58	4.49	4.49	4.35	4.33	22.24
2	3.75	4.02	3.81	3.77	3.50	18.85
	5.43	6.19	5.87	5.16	5.15	27.80
5409	6.48	6.35	5.29	5.00	4.91	28.03
$Y_{.j}$	25.21	26.08	24.35	23.13	22.73	121.50

: (6)

blocks

treatments

:

experimental error

(2)

.(7)

:7

S.O.V.	D.F	S.S.	M.S.	F
<i>due to regression =</i> $R(X_1, \dots, X_{r+t-2})$	8	13.61	1.70	15.45
treatments = $R(X_1, \dots, X_{t-1} X_t, \dots, X_{r+t-2})$	4	12.04	3.01	27.36
blocks = $R(X_t, \dots, X_{r+t-2} X_1, \dots, X_{t-1})$	4	1.57	0.39	3.54
error = $error(X_1, X_2, \dots, X_{r+t-2})$	16	1.75	0.11	
total	24	15.36		

:

/

:8

	C1	C2	C3	C4	C5	$Y_{.j}$	$Y_{(i)}$
R1	4.97 t1	6.35 t5	5.87 t4	3.77 t3	4.33 t2	25.29	24.58
R2	4.58 t2	5.03 t1	5.29 t5	5.16 t4	3.50 t3	23.56	22.24
R3	3.75 t3	4.49 t2	4.89 t1	5.00 t5	5.15 t4	23.28	18.85
R4	5.43 t4	4.02 t3	4.49 t2	4.85 t1	4.91 t5	23.70	27.80
R5	6.48 t5	6.19 t4	3.81 t3	4.35 t2	4.84 t1	25.67	28.03
$Y_{.k}$	25.21	26.08	24.35	23.13	22.73	121.50	

... (8)

rows treatments : (3)

: experimental error columns

.(9)

:9

S.O.V	D.F.	S.S.	M.S.	F
<i>due to regression</i> = $R(X_1, \dots, X_{3r-3})$	12	14.57	1.21	17.29
treatments = $R_t(X_1, \dots, X_{r-1} X_r, \dots, X_{3r-3})$	4	12.04	3.01	43.00
rows = $R_r(X_r, \dots, X_{2r-2} X_1 \dots X_{r-1}, X_{2r-1} \dots X_{3r-3})$	4	0.96	0.24	3.43
columns = $R_c(X_{2r-3}, \dots, X_{3r-3} X_1, \dots, X_{2r-2})$	4	1.57	0.39	5.57
error = $error(X_1, X_2, \dots, X_{3r-3})$	12	0.79	0.07	
total	24	15.35		

(2006)

Yates

:

:

:

:()

(R²) :

(3 2 1)

(2006)

(2006)

Yates

-1

"

" 2003

FAO

" 2006

-2

"

4 2

-

.184-167

" 2006

-3

"

-85 10 6

-

.106

...				
" 2006				-4
"				
.82-61	1	17	-	
			" 2005	-5
()			"	
.				

- 6- Agresti, A. and C. Franklin; 2007; "Statistics The Art and Science of Learning From Data", Pearson Prentice Hall, USA.
- 7- Bererson, M.; D. Levine and T. Krehbiel; 2006; "Basic Business Statistics–Concept and Applications", 10th edition, Pearson Prentice Hall, USA.
- 8- Cody, R. and J. Smith; 2006; "Applied Statistics And SAS Programming Language", 5th edition, Pearson Prentice Hall, USA.
- 9- Vuchkov, I. N. and L. N. Boyadjieva; 2001; "Quality Improvement with Design of Experiments: A Response Surface Approach"; Kluwer Academic Publishers; London.